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TRFOADKES = [ZE=EIE) BRERDIELE |2ERHhORE
1. TROZFUEEBHONRTERSICLIES EMAEEE  |132421A661122051
HDORHEZDHEE SINF-RERAORKEEZTRLTLNS, — = -
A) *z@;r;;m*mow B BREDBED S DB ABEKN/M) (E) #HEZAIMEIEZ 2RO HEHED H DBEAB®KN/nf) 2 LOAENIIRRRENICSHORZERT S lilk i i
< N MZEHEA 2 =ANIE m "=\ IMZE iR A I IANIE m EHEES ZHh1-L D=3 il = 3 s =
(B) (WA L HRBENI (AT 5550+ EEDESm) () A LBREN AT 5BE0 L EEOBHm) A AL A b R 7E e KE TR 52 ET 5
(C) BN & B HA100kN/m LU T DR IFDFEEND 11 DB KAEKN/ ) (G) HIEESHIMUT ORI D HFED S DOEFRKIEKN/ ) BN =4 I5E & =2 6% R L 2 I Pri-m A 15
D) ONLHEEYI AT IBENLIREDNES(m) H) (N LHEREYIERTIBENTRZENEEM) DRFGFAENCHEET H_ENTES,
HETFTRLYFHOLEZEDADKES SIESHA DL EZEDHDAEE
RHBES % =
(A) (B) () (D) (E) (F) (@) (H) (A) (B) (©) (D) (E) (F) (@) (H)
(1) 128.4 1.0 99.8 1.0 - - 141 2.8 128.4 1.0 974 1.0 - - 141 2.8
(2) 157.8 1.0 100.0 1.0 18.2 3.6 15.1 3.0 157.8 1.0 99.8 1.0 18.2 3.6 14.9 3.0
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